
0.03 ÷ 0.1 = 0.098 ÷ 0.1 = 0.127 ÷ 0.1 =

7.19 ÷ 0.1 = 354.2 ÷ 0.1 = 0.86 ÷ 0.1 =

23.53 ÷ 0.1 = 9.369 ÷ 0.1 = 96.75 ÷ 0.1 =

8.58 ÷ 0.1 = 3.92 ÷ 0.1 = 0.65 ÷ 0.1 =

0.3 ÷ 0.1 = 0.835 ÷ 0.1 = 0.07 ÷ 0.1 =

4.5 ÷ 0.1 = 32.09 ÷ 0.1 = 0.7 ÷ 0.1 =

918.1 ÷ 0.1 = 0.1 ÷ 0.1 = 8.711 ÷ 0.1 =

3.3 ÷ 0.1 = 0.69 ÷ 0.1 = 0.02 ÷ 0.1 =

0.758 ÷ 0.1 = 0.002 ÷ 0.1 = 79.4 ÷ 0.1 =

0.02 ÷ 0.1 = 8.96 ÷ 0.1 = 0.7 ÷ 0.1 =

24.6 ÷ 0.1 = 0.065 ÷ 0.1 = 42.51 ÷ 0.1 =

0.09 ÷ 0.1 = 0.351 ÷ 0.1 = 7.5 ÷ 0.1 =

0.009 ÷ 0.1 = 23.3 ÷ 0.1 = 0.9 ÷ 0.1 =

0.05 ÷ 0.1 = 125.5 ÷ 0.1 = 636.5 ÷ 0.1 =

931.1 ÷ 0.1 = 3.84 ÷ 0.1 = 8.5 ÷ 0.1 =
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0.03 ÷ 0.1 = 0.3 0.098 ÷ 0.1 = 0.98 0.127 ÷ 0.1 = 1.27

7.19 ÷ 0.1 = 71.9 354.2 ÷ 0.1 = 3542 0.86 ÷ 0.1 = 8.6

23.53 ÷ 0.1 = 235.3 9.369 ÷ 0.1 = 93.69 96.75 ÷ 0.1 = 967.5

8.58 ÷ 0.1 = 85.8 3.92 ÷ 0.1 = 39.2 0.65 ÷ 0.1 = 6.5

0.3 ÷ 0.1 = 3 0.835 ÷ 0.1 = 8.35 0.07 ÷ 0.1 = 0.7

4.5 ÷ 0.1 = 45 32.09 ÷ 0.1 = 320.9 0.7 ÷ 0.1 = 7

918.1 ÷ 0.1 = 9181 0.1 ÷ 0.1 = 1 8.711 ÷ 0.1 = 87.11

3.3 ÷ 0.1 = 33 0.69 ÷ 0.1 = 6.9 0.02 ÷ 0.1 = 0.2

0.758 ÷ 0.1 = 7.58 0.002 ÷ 0.1 = 0.02 79.4 ÷ 0.1 = 794

0.02 ÷ 0.1 = 0.2 8.96 ÷ 0.1 = 89.6 0.7 ÷ 0.1 = 7

24.6 ÷ 0.1 = 246 0.065 ÷ 0.1 = 0.65 42.51 ÷ 0.1 = 425.1

0.09 ÷ 0.1 = 0.9 0.351 ÷ 0.1 = 3.51 7.5 ÷ 0.1 = 75

0.009 ÷ 0.1 = 0.09 23.3 ÷ 0.1 = 233 0.9 ÷ 0.1 = 9

0.05 ÷ 0.1 = 0.5 125.5 ÷ 0.1 = 1255 636.5 ÷ 0.1 = 6365

931.1 ÷ 0.1 = 9311 3.84 ÷ 0.1 = 38.4 8.5 ÷ 0.1 = 85
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